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NO.1 200mBAX FL —
K& PE T MR S A
178 1 RE HRA w2 8 24 40119
2 Bzt BE w2 8 5 34555
3
2if 1
2 R8BIl X w4 9 5 34185
3
3iH 1 £1:7 N N nw 3 9 5 3.32.09
2 kB FEX w5 11 5 32247
3
48 1 BT BA nw 4 9 5 30877
2 wis =R w2 8 5 3.08.10
3
5 1 SN B w2 8 24 3.04.80
2 TR # w2 7 5 3.09.02
3
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3
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3
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2 g BIX w2 7 L4 41.06
3
48 1 ERKN = n 4 10 B 37.79
2 k@B fEX w5 11 5 3807
3
5#8 1 nE =5 w4 9 L4 35.71
2 P8 Biz 4 10 = 36.09
3
Gie 1 NCIIES w3 9 L4 3544
2 =t ExX 5 10 %« 33.39
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1#8
S B w2 8 24 1.21.88
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KE E w2 7 24 50.51
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148 RE HRA w2 8 L4 5211
AW EF A 7 L4 4913
2#8 KE E w2 7 L4 4580
gBAR fEK w2 8 L4 4989
3 w2 BA w4 9 5 43.86
#BAR WX n 3 9 5 4835
448 ERKN = 4 10 =B 39.56
ne =5 w4 9 L4 39.30

5#8



MR FREH w3 8 5 4111



NO.10 S50mILKE
K& PE T 4R > A
178 RE FHRA w2 8 z 1.00.48
Bzt BE w2 8 5 58.81
2if 1.7 NI (=43 w2 7 24 5817
R8BIl X w4 9 5 Kig
3iH AW EH AL 7 24 53.39
g X w4 9 5 Kig
48 e BIX w2 7 24 52.28
Wwis =R w2 8 5 50.58
5 SN B w2 8 24 4933
kB  FEXR w5 11 5 4857
GiH TR # mw 2 7 5 4904
w2z BA nw 4 9 5 5003
THE ZNCIIES w3 9 24 4724
nE =5 w4 9 24 4623
8if
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